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1
Introduction
In this document, we propose to select non-DC based HO with dual active protocol stack as a single solution.
2
Discussion
In the RAN2#106 meeting, it was agreed that RAN2 would target a single solution to achieve 0ms interruption time.
Agreements

1:
Mobility interruption time means the shortest time duration supported by the system during which a user terminal is not able to exchange user plane packets with any base station during transitions.   

2:
RAN2 common understanding is to reduce interruption time at radio (i.e. air interface) level during mobility (i.e. handover) to improve user experience at service/application layer.

3: 
RAN2 aim to develop protocol design to achieve strict 0ms (if feasible) else close to 0ms interruption time on radio level during handover considering UE capabilities and deployment scenarios.

4: 
For achieving the aim of agreement 3, RAN2 targets a single solution
5: 
Interruption time reduction in DL to be prioritized, but UL will still be considered. 

This agreement means RAN2 has to select from two possible solutions, DC based and non-DC based. 

So far, a lot of documents (for example [1][2][3]) has discussed pros and cons for both approaches. From these discussions, we see non-DC based is preferrable solution as it has less cons than DC-based solution.
On the other hand, in LTE feMob discussion at the RAN2#106 meeting, it was agreed to specify dual active protocol stack [4]. It would be efficient to align NR eMOB approach with LTE feMOB approach in terms of progress of the WIs and development of the products.
Therefore we propose RAN2 to select non-DC based solution with dual active protocol stack as a single solution to achieve 0ms interruption time.

Proposal: RAN2 agrees to select non-DC based solution with dual active protocol stack as a single solution to achieve 0ms interruption time.

3
Conclusion
Proposal: RAN2 agrees to select non-DC based solution with dual active protocol stack as a single solution to achieve 0ms interruption time.
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